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Q 1 . IsfhEe‘\Lstt::n\r:ttslzspltr)é:nf:t?:nj‘atc;nc field at a distance r ( />R) due to a uniformly charged spherical Marks . 1
M (2) 1r (3) 7 (4) U
1.1
2. 2
3.3
4. 4 E ( This Answer is Correct )
Figure Q6 shows two parallel gquipotential surfaces A and B kept a small distance r apart from .
Q 2 . each other. A point charge of ¢ coulomb is taken from the surface A to B. The amount of net Marks . 1
work done is
(1) -ql(4meen) (2) ql(dmreor) (3) -q/(dmeord) @0
B
Figure Q6
1.1
2. 2
3.3
4.4 |Zl ( This Answer is Correct )
T it Cy and Cz h d to 120V and 200V tively. It is found that b
Q 3 . :‘g:n;;?:;t:erinIug:?henhea;eut[e;n:geun :a:h oneinan be ma’;;pzzfu‘.vihin = = Marks . 1
(1) 5C4=3C; (2) 3C=5C; (3) 3C;+5C=0 (4) 9C=4GC;
1.1
2.2 E ( This Answer is Correct )
3. 3
4. 4
A llel plat it filled with two dielect: h the Fig Q10. The rat f
Q4: capaciances wihout disectic and wit didectncls Marks :

(1) K+ (2) (K + K12 (3) Kekal(Ks +G) 1) 2(Ky+K)

1.1
2.2
3.3
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4. 4
Q5: gﬂ?:nutg tn:;;g\:;\;m is charged at the steady rate of 50uCs™. How long will it take to raise its Marks : 1
(1) 160s (2) 505 (3) 10s 4) 5008
1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4
Q6: Expresﬁsion for energy density of a parallel plate capacitor in vacuum is Marks : 1
(1) e,E%2 (2) 2e,E242 (3) eE2 {4) eE12
1.1 E ( This Answer is Correct )
2.2
3.3
4. 4
Q7: Wan de (Graaff generator is used to Marks: 1

(1) store electrical energy
i2) huild up high voltages of few million volts

)
(3) decelerate charged particle like electrons
i4) do both Options 1 and 2

1.1
2.2 E ( This Answer is Correct )
3.3
4. 4
A wire is stretched so as to change its diameter by 0.25%. The percentage change in .
Q 8 B resistance is Marks . 1
(1) 4% 2) 2% (3) 1% 4)05%
1.1
2. 2
3.3 m ( This Answer is Correct )
4. 4
A parallel plate capacitor is filled with two dielectrics as shown in the Fig Q10. The ratio of .
Q 9 . capacitances without dielectric and with dielectric is Marks 1
() Ktk (2) (Ki+Ko)2 (3) KeKal (K ) 4) 2(K+K)
I
f . (]
o7
Flgum;zzu
1.1
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2. 2
|Zl ( This Answer is Correct )
3.3
4. 4
. Two electric cells each of gmf 1.5V and intermal resistance 201 are connected in parallel and .
Q 10 . this combination of cells is connected with an extemal resistance of 20). What will be the Marks " 1
current in the extemal circuit?
(1) (14)A @) (U3)A 3) (12)A () DA
1.1
2.2
3.3 E ( This Answer is Correct )
4. 4
Unit of electron mobility is .
Q 11: (1) m3v-1s-t 2)m?Vs F)ymVs (4) mAV-'s Marks : 1
1.1 E ( This Answer is Correct )
2.2
3.3
4. 4
Potential at a distance r from the mid point of a dipole of length 2/ on the axis of it is .
Q12: (1) V'is doubled ) /s doubled Marks : 1
(3) the diameter of the wire is doubled (4) the temperature of the wire is doubled
1.1 |Zl ( This Answer is Correct )
2.2
3.3
4. 4
In the circuit of Figure Q25, the current /7 exceeds the current /s, by a factor of .
Q13: 1) 12 20 @) 100 ) 120 Marks : 1
+30V
h
5|m§
o 100k
+5V @A/
FigureQ25
1.1
2. 2
3.8
4.4 m ( This Answer is Correct )
Q 14 . :-ZS:::::;Z%LT1‘;:%3?;1:fpi‘rae‘;,:f?;?]%e are 10Q and 30Q respectively. If the resistances Marks . 1

(1) 33.33cm (2) 66.67cm (3) 25¢m (4) 50cm
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2. 2
3.3
4.4 |Zl ( This Answer is Correct )
A long wire carries a steady cument. It is bent into a circle of one tum and the magnetic field at .
Q 15 H the centre of the cail is B. It is then bent into a circular loop of 7 tumns. The magnetic field at the Marks .
centre of the coil is
a8 (2) n?B (3) 2nB @) 2B
1.1
2.2 E ( This Answer is Correct )
3.3
4. 4
The magnetic field due to a straight conductor of uniform cross-section of radius a and carrying .
Q 16 . a steady current is represented by Marks .
M B @
O] B )
I
1.1 E ( This Answer is Correct )
2. 2
3.3
4. 4
n a-particle and a proton having same momentum enter into a region of uniform magnetic field .
Q 17 . and move in circular paths. The ratio of the radii of curvature of their circular paths /7, in the Marks .
field is
1 (2) 114 @12 4
1.1
2.2
3.3 m ( This Answer is Correct )
4. 4
In an ammeter, 0.5% of the main current passes through the galvanometer. If the resistance of .
Q 18 . the galvanometer is G, the resistance of the ammeter is Marks -

(1) GI200 (2) G199 (3) 2006 199 6
1.1
2. 2
3. 3
4. 4

|Zl ( This Answer is Correct )
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Q19: mieichs i’ e oo e i s Marks : 1
Eﬂ]‘ah?f:‘;;kby (2) kl[(NAB) (3) KAI/(NB) (4) NBIAKA)
1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4
Q20: h?wa]g;;ﬂ;nrif::’nr;umem ‘S(%?ge:;i?hfmm (3) east to west (4) west to east Marks : 1
1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4
Q21: il o e G Marks : 1
mIA @mw @) A @) g2
1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4
Q 22 - IBQE:E:_i;aeofthe mgn@e&&ﬁ;}mem to the a?:%ug;l’r‘gmcment o(;)a;;(r;::)ng electron Marks : 1
1.1
2. 2
3. 3
4. 4 E ( This Answer is Correct )
Q23: G B G @ énmeh Marks : 1
1.1
2.2 |Zl ( This Answer is Correct )
3. 3
4. 4
Q24: ‘:g:!ee entering a paramagnetic material from air, the spacing between the magnetic lines of Marks : 1
(1) remaips the same (2) decreases
(3) increases (4) first increases then decreases
1.1
2.2 |Zl ( This Answer is Correct )
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3. 3
4. 4
For a paramagnetic material, both y and y, depend upon .
Q 25 . (1) pressure. (2) material (fBJ temperature (4) both material and temperature Marks - 1
1.1
2. 2
3.3
4.4 |Zl ( This Answer is Correct )
Q 26 : The [-H curve for a paramagnetic material is represented by the figure Marks : 1
(1) @
!
0 O
G) I 4) I
o ‘-4”
1.1
2.2
3.3 |Zl ( This Answer is Correct )
4. 4
Q 27 . ;I:ijhsn rthe keyeru:: ;;?:;Z?ndfmifm:ieszﬁ_i the current in C2 and the resulting magnetic field Marks . 1
(2) first increases, then decreases
(3) remaing same
(4) decreases from the respective maximum to zero
1.1
2.2
3. 3
4. 4 E ( This Answer is Correct )
A current passing through a coil of self inductance 2mH changes at a rate of 20mAs™". The gmf
Q 28 : induced in the coil is Marks : 1
(1) 104V (2) 40V (3) 10mv (4) 40mv
1.1
2.2 E ( This Answer is Correct )
3.3
4. 4

https://www.slscampuscare.in/QuestionBank/QuestionBankReport?menuid=501

6/17



3/23/2021 Entab - CampusCare®| School ERP Software

In 0.1s, the current in & coil increases from 1A to 1.5A. If inductance of coil is 60mH, then .
Q 29 . induced current in external resistance of 30 is Marks . 1
(1) 1A (2)05A (3)02A 4)01A
1.1
2.2
3.3
4.4 E ( This Answer is Correct )
Q 30 . gya;:?C main supply is given to be 220V, what would be the average gmf during a positive half- Marks : 1
(1) 198V (2) 386V (3) 256V {4) None of these
1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4
The frequency of an altemating voltage of 120V amplitude is 50cycles/s. The s value of the .
Q 31: voltage is Marks : 1
(1) 101.3v (2) 84.8V @707V (4) 56.5V
1.1
2.2 |Zl ( This Answer is Correct )
3.3
4. 4
In an AC circuit, /=100 sin (200xf). The time required for the current to reach its peak value is .
Q32: 1) 0.01s (2) 0.005s (3) 0.0033s {4) 0.00255 Marks : 1
1.1
2.2
3. 3
4. 4 E ( This Answer is Correct )
I LR h, le bet the altemat It d t is 45°. The val
Q 33: :f ?;9 indmg%tznzei:nge etween the altemating voltage and current is e value Marks : 1
(1) R4 (2) R2 B3R (4) data insufficient
1.1
2. 2
3.3 E ( This Answer is Correct )
4. 4
In an LCR AC it, the volt h of th t d Ris 50V
Qaa: e A Marks : 1
(1) 50V (2) 502V (3) 100V @)
1.1
2.2
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3.3
4.4 |Zl ( This Answer is Correct )
It is desired to photograph the image of an object placed at a distance of 3m from a plane .
Q 35 . mirror. The camera which is at a distance of 4.5m from the mirror should be focussed for a Marks . 1
distance of
(1) 3m (2) 4m (3)6m (4)7.5m|
1.1
2.2
3.3
4. 4 |Zl ( This Answer is Correct )
What is the distance of a needle from a concave mirror of focal length 10cm for which a virtual .
Q 36 . image of twice its height is formed, 7 Marks - 1
(1) 2.5cm (2) 5cm (3) Bcm (#) 9.1cm
1.1
2.2 E ( This Answer is Correct )
3.3
4. 4
A beaker of depth @ is half filled with olive oil of refractive index ps and the other half is filled .
Q 37 . with water of refractive index p; The apparent depth of the beaker when viewed from above is Marks * 1
(1) glprtpz)i2ump =) (2) 0.Sapspalprtpa)”
) sl @) 2arpalp
1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4

A ray of light strikes an air-glass interface such that a part of it is reflected back to air and the

Q 38 . rest enters the glass as shown in Figure QB6. If the angle of refraction and the refractive index Marks B 1
of glass with respect to air are r and p respectively, then the value of ais
(e (2) wsine (3) sin"(using) (4) sin”{sin(rA)}
e
Inciden —
Ray : Air
\ Glass
i\
Figure Q86
3.3 m ( This Answer is Correct )
In an optical fibre shown in Figure Q68, the cormrect relation between the indices of cor .
Q 39 B cladding is Marks . 1
(1) pi=n2 (2) n1>n2 (3) n1<n2 (4) n1+n2=2

Figure Q68
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2.9 E ( This Answer is Correct )
3.3
4. 4
The angle of incidence for a ray of light at a refracting surface of a prism is 45°. The angle of .
Q 40 : prism is 60°. If the ray suffers minimum deviation through the prism, the angle of minimum Marks - 1
deviation and refractive index of the material of the prism are given respectively by
(1) 30%; 42 (2) 45" 42 (3) 30%: 112 (4) 45 12
1.1 E ( This Answer is Correct )
2.2
3.3
4. 4
Two thin lenses of focal lgnarhs f and f; are kept in contact coaxially. The power of the .
Q 41 H combination is given by Marks - 1
[1) Jtfufs) (2) ~i(7AFr) (3) (fs+f2)f2 () (F+)(fif)
1.1
2. 2
3.3
4. 4 E ( This Answer is Correct )
. A parallel beam of light is incident on a solid transparent sphere. . If a point image is produced .
Q 42 . at the back of the sphere, the refractive index of the material of the sphere is Marks " 1
mas @15 (3125 42
1.1
2. 2
3.3
4.4 |Zl ( This Answer is Correct )
Q 43 . ‘V':ﬂ::i‘r;:u:pgt;;?\s correct for rays coming from an object at infinity incident on the lens as shown Marks . 1

(1) Two images are formed

(2) Continuous image is formed between focal points of the two lenses
(3) One image is formed

(4) None of Options 1to0 3

1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4
A incident at 15 fracting f: i f le 60° suffe deviati ff 55° .
Que: IR works 1
1.1
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2.2
3.3
4. 4 E ( This Answer is Correct )
Q 45 . ':;e spectral lines appear on the lower frequency side of the unmodified spectral ling are known Marks . 1
(1) Stokes line (2) anti-Stokes line
(3) Raman line (4) None of Options 1to 4
1.1 E ( This Answer is Correct )
2.2
3.3
4. 4
The scattering of light by molecules, without change of frequency on wavelength is known as .
Q 46 . (1) Rayleigh scattering (2) non-Rayleigh scattering Marks 1
(3) scattering (4) Raman scattering
1.1 E ( This Answer is Correct )
2. 2
3.3
4. 4
Q 47 . \\::';2‘ is the angle between the electric dipole moment and the electric field due to it on the axial Marks : 1
(o (2) 90° (3)45° (4) 180°
1.1 m ( This Answer is Correct )
2.2
3.3
4. 4
. The dimensional formula of electric intensity is .
Q 48: (1) [MLTZ A1) (2) [MLT AT (3) [MLETZ A] (4) (MLET= A2 Marks : 1
1.1
2.2 E ( This Answer is Correct )
3.3
4. 4
. If the medium between two shells in Fig Q13 is filled up with a dielectric constant K, then its Marks . 1
Q 49 capacitance is "
(1) drreoKb?((b-5) (2) dmegbRiK (b-a)y
(3) 4meakib-2) [4) Kab/tmsg)

Figure Q13

1.1 |Zl ( This Answer is Correct )
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2. 2
3. 3
4. 4
. The equivalent resistance between the points A and B is in Figure Q16 is .
Q50: (1) 30 (2) 40 (3) 60 4) 10 Marks : 1
60
A 20 VAVAV B
;i 4 30
A,
Figure Q16
1.1
2.2 E ( This Answer is Correct )
3.3
4. 4
Potentiometer measures the potential difference more accurately than a voltmeter because .
Q 51 . (1) it has a wire of high resistance Marks - 1

(2) it has a wire of low resistance
(3} it does not draw current from external circuit
(4) it draws a heavy current from external circuit

1.1
2. 2
3.3 |Zl ( This Answer is Correct )
4. 4
Q52  (oreromemc - @ rammage | () Olamegnate ) Novmapneic Marks : 1
1.1 |Zl ( This Answer is Correct )
2.2
3.3
4. 4
Q 53 The net magnetic flux through any closed surface, kept in a magnetic field is Marks : 1
(1) zer0. (2) pol(am) (3) 4mmp (4) dugfmr
1.1 |Zl ( This Answer is Correct )
2.2
3. 3
4. 4
Q54: 1
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! \ghmh of the graphs shows the correct vanataion of the capacitive reactance X with frequency MarkS :
W x. @ X
f / f
_—
Xe
o 1% @
. ;
-y
1.1
2.2
3.3 E ( This Answer is Correct )
4. 4
Q55: Resonant circuits are used in Marks :
(1) tuning mechanism of radios
(2) TV sets
(3) both for TV set and tuning mechanism of radios
{4) neither for TV sets nor for tuning mechanism of radios]
1.1
2.2
3.3 m ( This Answer is Correct )
4. 4
The refracting angle of a prism is A, and refractive index of the material of the prismis cot (A/2). .
Q 56 H The angle of minimum deviation is Marks -
(1) 180° - 3A (2) 180" - 2A (3)90°-A {4) 180" + 2A
1.1
2.2 E ( This Answer is Correct )
3.3
4. 4
Q 57 . Iffoée;i‘\;g:mis used instead of blue light in order to determine the focal length a lens. then the Mal'ks .
(1) increases (2) decreases (3} remains same (4} cannot be determined
1.1 |Zl ( This Answer is Correct )
2.2
3. 3
4. 4
Q 58 . :'rgzgic:tr;;n:g;'hgh{tm\;;l;tcrl)dsm on one face of a prism at an angle of incidence =60°. Which Mal’ks :

(1) Dispersion takes place

(2) Deviation takes place

(3) Both dispersion and deviation take place
(4) Neither dispersion nor deviation takes place

1.1
2.2
3.3
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4. 4
Q59: P e vt . ety Marks : 1
(1) 88.9nC (2) -88.9nC (3)0 (4) 90nC
1.1
2.2 |Zl ( This Answer is Correct )
3.3
4. 4
Q 60 . (F;t]xt;mial at a distance r from the W:};}E;{,’;}M length 2! on the axis of it is Marks . 1
(3) {14idme:)} 2pl(*)} @) iR
1.1
2.2 |Zl ( This Answer is Correct )
3.3
4. 4
Q61: ot A he ek ot s Sl v e st Marks : 1
2aimer) (2)2(Qq) (recR)”
(3) (2Q+g)(dms Ry’ (4) 2(Q+g) (4R
1.1
2.2
3.3 |Zl ( This Answer is Correct )
4. 4
Q62: il il st o v Marks : 1
(1) 20% (2) 22% (3) 40% (4) 4%
1.1
2.2
3.3
4. 4 E ( This Answer is Correct )

Two condensers C; and C; in a circuit are joined as shown in the Fig Q11. The potential of

Q 63 . point Ais V; and that of Bis Vz. The potential of point D is Mal'ks N 1
(1) Vit Va2 (2) (C1 Vzt CoVy)(Cr+ o)
(3) CiVi#+ CaVo)(Ci+Ca) [4) (C2Vi-C1 Vo) (Cr+Ca)
A [ D C: 8
vy v
Figure Q11
1.1
2.2 m ( This Answer is Correct )
3.3
4. 4
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Aset of n identical resistors, each of resistance R ghm when connected in series, has effective Marks . 1
Q 64 . resistance X ohm and when connected in parallel the effective resistance is ¥ ohm. Then the -
resistance R is given by
) 4xv) (2) Yax (3) XY ) x2v2
1.1 E ( This Answer is Correct )

A galvanometer of resistance R is connected to an electric circuit. The main current in the .
Q 65 . circuit is k times the maximum cument that the galvanometer can withstand. The maximum Marks . 1
value of the shunt resistance that should be used across the galvanometer is

MR @) (=R () Rik (4) Rik-1)

4. 4 |Zl ( This Answer is Correct )

A group of N cells whose gmf varies directly with the internal resistance as per the equation M k . 1
Q 66 . En=1.51..2re connected as shown in Figure Q22. The cument j in the circuit is arks :
(1) 0.51A (2 5.1A (3) 0.15A ) 1.54

v
n n
i

Figure Q22

4. 4 E ( This Answer is Correct )

In the circuit of Figure Q26, the source of gpf £ has negligible intemnal resistance. C is the .
Q 67 . midpoint of the potentiometerwire AB. The resistance of the voltmeter V is not very high Marks . 1
compared to that of the potentiomenter wire. Then the voltmeter reading is
MmE (2) Er2 (3) greater than E/2 (4) less than E/2

E
A f-m B

s
Figure Q26

4. 4 E ( This Answer is Correct )

A potentiometer wire is 100cm long and a constant potential difference is maintained across it. .
Q 68 : Two cells are connected in series first to support one another and then in opposite direction. Marks . 1
The balance points are obtained at 50cm and 10cm from the positive end of the wire in two
cases. The ratio of gmf is
(1) 5:4 (2) 34 (3)3:2 (4)5:1
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3.3 |Zl ( This Answer is Correct )

Resistances P and Q are connected in the gaps of metre-bridge. The balancing point is M k . 1
Q 69 . obtained at (1/3)m from the zero end. If a 60 resistance is connected in series with P, the arks :

balance point shifts to (2/3)m from the same end. P and Q

(1) are 40, 20 (2) are 20, 40 (3) could be both Options 1 and 2

(4} are neither of Options 1and 2

4. 4 E ( This Answer is Correct )

A ynifom electric field and a uniform magnetic field are acting along the same direction in a .
Q70: certain region. If an electron is projected in the region such that its velocity is pointed alang the Marks : 1

direction of fields, then the electron

(1) tums. towards right of direction of motion

(2) speed decreases

(3) speed increases

(4) tums towards left of direction of motion

2.2 |Zl ( This Answer is Correct )

In Figure Q35. X and Y are two long straight parallel conductors each carrying current of 2A. M k . 1
Q 71 . The force on each conductor is F pewtgns. When the cument in each changed to 1A and arks :

reversed in direction, the force on each is now
(1) F/4 and unchanged in direction (2) Fi2 and reversed in direction
(3) /2 and unchanged in direction (4) Fi4 and reversed in direction

X 2A
—_—

Y:2A

Figure Q35

1.1 |Zl ( This Answer is Correct )

A helicopter rises vertically with a speed 100m/s. If the helicopter is 10m long and the .
Q72: horizontal component of earth's magnetic field is 5x10Wblsg,m, then the induced emf between Marks : 1

the tip of the nose 1o the tail of the helicopter is

(1) 50V 2 0.5v 35V ) 25V

2. 2
3.3 |Zl ( This Answer is Correct )
4. 4
The expression for the magnetic energy stored in a solenoid in terms of magnetic field B, area .
Q73: A and length | of the solenoid, is Marks : 1
(1) BAI{2110) (2) B*AlA2ug) (3) B2Aly (4) BAZIug
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E ( This Answer is Correct )
1.1
2. 2
3.3
4. 4
Q 74 - :Iizh:;‘ isthe angle between the electric dipole moment and the electric field due to it on the axial Marks :
m i @ !
by of ’; ol
O e R P
fa I
3 i 5] {
In I B
| ot G 3 \et
T T\ ] an
il e -
1.1
2. 2
3.3 |Zl ( This Answer is Correct )
4. 4
Q75: el e o 4 o A et e e Marks :
(1) tan'{4/3) (2) tan-'(3/4) (3) tan'(3/2) (4) tan-'(2/5)
1.1 E ( This Answer is Correct )
2.2
3.3
4. 4
In Figure @63, the height H; of the object is +2.5cm. The height H; of the image is .
Q76: (1) 5em () +5cm (3) +7.5cm (4) -7.5cm Marks :
1.1 |Zl ( This Answer is Correct )
2. 2
3.3
4. 4
An object is approaching a convex mirror. The ratio of the velocities of the object and its image, .
Q 77 H which is magnified by m times, is Mal’ks .

(1)-1m? @ m? @-m @) tim
1.1
2. 2
3. 3
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4. 4
A ray of light is incident at a parallel slab of glass-water interface at an apgle, /i The ray .
Q 78 . emerges in air parallel to the surface of water as shown in Figure Q67. The value of refractive Marks . 1
index of glass is
(1) @3sing @iy (43 @1
Air_
Walez\ 44
3
ik,
Figure Q67
1.1
2.2 E ( This Answer is Correct )
3.3
4. 4
A plang-convex lens fits exactly into a plang-concave lens. Their plane surfaces are parallel to .
Q 79 H each other. If lenses are made of different materials of refractive indices p; and 2 and Ris the Marks - 1
radius of curvature of the curved surface of the lenses, then the focal length of the combination
is
(1) 0.5R s +p2) (2) 0.5RAa) (3) 125~ prpz) (4) 2R/ i)
1.1
2.2
3.3 m ( This Answer is Correct )
4. 4
. The ratio of powers of a thin convex and thin concave lenses is 3/2. When they are in contact .
Q 80 . the equivalent focal length is 30cm. Their individual focal lengths are Marks * 1
(1) 75cm,-50cm (2) 10cm, -15cm (3) 15cm, -10cm (4) 50cm, -75cm
1.1
2.2 |Zl ( This Answer is Correct )
3.3
4. 4
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